










3) MATLAB Command: 
x=0:0.1:5; 
y1=x.*exp(-x); 
y2=x.*exp(-x.^2); 
plot(x,y1,'r') 
hold on; 
plot(x,y2,'b') 
 
Solution: 

 
4) Simulink sheet: 
 

 
 
 
Solution 
 



 
5) MATLAB Command: 
G=zpk([1],[-1 -1],[-1]); 
subplot(2,2,1);step(G); 
subplot(2,2,2);impulse(G); 
subplot(2,2,3);bode(G); 
t=0:0.1:10; 
u=ones(1,length(t)); 
subplot(2,2,4);lsim(G,u,t) 
 
Solution: 
 

 
 
6) MATLAB Command: 
G=tf([2],[1 3 1],'InputDelay',3) 
 
Solution: 
 



 
 
 
Settling time: 13.7 seconds 
Rise Time: 5.86 seconds (time taken for the response to reach from 10% to 90% 
of the ultimate value) 
Final Value: 2 
Overshoot: 0 
 
Note: In some textbooks, the rise time is defined as: the time required for the 
response to first reach its ultimate value.   
 

MATLAB/symbolic toolbox 
 
1-5) See the attached supporting Mupad file 
 
6) MATLAB Command  
x=dsolve('Dx=-x^2+1','x(0)=1') 
 
Solution 
x(t)=1 
 

 
 
 
 


